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3E (mm)

0821302511 G1/2 G1/2 G 1/4 69.6 1.8 97 355 132.5 M50x1,5
0821302512 G172 G172 G 1/4 69.6 1.8 97 355 132.5 M50x1,5
0821302513 G1/2 G1/2 G 1/4 69.6 1.8 97 35.5 132.5 M50x1,5
;%E;gg% H | J K L M N N1 (6}
0821302511 54 55 69 54.5 46 3 3 55 50
0821302512 54 55 69 54.5 46 3 3 55 50
0821302513 54 5.5 69 54.5 46 3 3 5.5 50
;SE;;L% P R S T T2 T6 U \ W
0821302511 20 6.4 10 13 13 7 24 18 67
0821302512 20 6.4 10 13 13 7 24 18 67
0821302513 20 6.4 10 13 13 7 24 18 67
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M 45, p2 =0,05 -7 bar

P, [bar] p1=8bar
A
8
6 ~— |
4 T~
2
To—
0 o
0 1600 3200 4800 6400 8000
qn[I/min]

p1=4EBEN p2 = ZIREH gn = ERLHE
p2=0,5-10 bar

M 45, p2 = 0,05 - 7 bar

p, [bar]

A
8

p1=8bar

6

0 1000 2000 3000 4000 5000
qa, [I/min]

p1=4EBED p2 = ZIREH gn = ERXHH
p2=0,2 -6 bar

EMERSON.

A

&

3



BERAESR, >V —X NL4-RGP

2024-04-24
0821302513
M H 4%, p2 = 0,05- 7 bar E s
p, [bar] p,= 8 bar P, [bar] q = 20 I/min
|
8
B 2,02
4 2,01 =
< ™.
1,99
0 -
0 1000 2000 3000 4000 5000 1,98
q,, [I/min] N

pl1 =4EBEN p2 = ZREH gn = ERHH
p2=0,1-3bar

0 s
02 3 4 5 6 7 8 9 10

p, [bar]

pl=4EBIEH p2="REHq=HH

5§

EMERSON

4



